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PRACTICE TEST-1

CLASS: Xli
SUBJECT: ACCOUNTANCY

FUNDAMENTALS OF PARTNERSHIP

Time : 50 min. M.M. 25

1.

A and B have contributed a large amount as compared to C and therefore
they want that the profits should be distributed in capital ratio to which all
partners agreed. They don’t have any partnership deed. Give your views. 1

A 3R B A e & C 9 eifrer Sl ofTé g5 €, 39 %R d @ed © fF o
a1 fauee It orue ® @, fee fou ot gRkR wewd ®1 ST UM Wi
EER o 1 g1 9 e foem <)

In the absence of an agreement, state the rules regarding interest on partner’s
loan. 1

el o o A9 H, 9ERR N KU MW KU W S § g e
Eaiy

Name any two items that are recorded on the ‘Debit’ side of a partner’s
current account. 1

TR % =16 W o efae U | fawt o ot w3 w o)

A and B started business on 1% Jan. 2014 with a capital of Rs. 60,000 and Rs.
40,000 respectively. A introduced Rs. 25,000 into the firm on 1% July 2014 as
additional capital. His drawings for the year were Rs. 10,000. Calculate
interest on capital payable to A and B, if rate of interest is 10% p.a. 4

A, B and C were in a partnership sharing profits as 4:2:1 respectively. It was
provided that in no case C’s share in profit should be less than Rs. 7500. The
profits for the year 2014 amount to Rs. 31500. You are required to show the
appropriation amongst partners. 4

X, Y and Z were sharing profits in the ratio of 3:2:1. Z was entitled to receive a
commission of 10% on net profits after charging such commission. Net profit
before charging the commission payable to Z was Rs. 66,000. Calculate the
commission payable to Z. 4

The partners of a firm distributed the profits for the year ended 31% March
2013 Rs. 75000 in the ratio 3:2:1 without providing for the following
adjustments:

I. A&B were entitled to a salary of Rs. 3000 each p.a.

. B was entitled to a commission of Rs. 5000.

iii. B&C had guaranteed a minimum profit of 30,000 p.a. to A.
V. Profits were to be shared in the ratio of 3:3:2.

Pass an adjustment entry for the above. 4



After completing their graduation, Ram and Rahim decided to sell ISI marked
electronic goods to economically weaker sections of the society at low rates.
For this, they decided to form a partnership business as per the provisions of
the partnership Act 1932. They further decided to include Julie, who had
completed her graduation five years ago but is still unemployed, as a third
partner without contributing any capital. On 1.4.2014 all of them formed a
partnership on the following terms:

I. Ram will contribute Rs. 2,00,000 and Rahim Rs. 1,00,000

. They will share the profits equally

iii. Interest on capital will be allowed @ 6% p.a.

The profit of the firm for the year ending 31% March 2015 was Rs. 3,18,000.

a. Identify four values which, according to you, motivated them to form a
partnership firm.

b. Prepare P&L Appropriation Account for the year ending 31% March
2015. 4+2=6



PRACTICE TEST-2

CLASS: Xli
SUBJECT: ACCOUNTANCY

(D CHANGE IN RATIO AMONG PARTNERS
(1D VALUATION OF GOODWILL

Time : 50 min. M.M. 25

1. Name two methods of valuation of goodwill. 1
wnfa geated &t 1 fafeei w1 A s

2. Define goodwill. Explain any two factors which increases goodwill of a firm. 3

wfa 1 gRefya wifs) o9 fl S *Repl &1 99 Fifse st foedt wd &t

e 1 Sen |

P, Q and R were partners sharing profits and losses in the ratio of 1:2:2. On
1% April 2015 it was decided that P will get 1/4 of the total profit and
remaining share will be taken by Q and R equally. Calculate sacrificing and
gaining ratio. 3

Enumerate any three adjustment which may be required at the time of change
in profit sharing ratio. 3

Y *ig o g fafau et sravasa @ faaee sua 5 9fiedd =
R e s 27

The firm started business with a capital of Rs. 2,00,000. The normal rate of
earning in this class of business is 10%. The firm earned Rs. 30,000 as profit
during the year. Calculate goodwill on the basis of two years purchase of
super profit. 3

On 1% April, 2013 an existing firm had assets of Rs. 75,000 which include
cash of Rs. 5,000. Its creditors amounted to Rs. 5,000 on that date. The firm
had a reserve fund of Rs. 10,000 while partner’s capital accounts showed a
balance of Rs. 60,000. If the normal rate of return is 20% and the goodwill of
the firm is valued at Rs. 24,000 at four years’ purchase of super profit. Find
the average profit per year of existing firm. 3

X, Y and Z were partners sharing profits equally. On 1.1.2012 they decided to
share their future profits in the ratio of 1:2:2, on the same date the firm has a
balance of Rs. 60,000 as general reserve and Rs. 18,000 in the P&L A/c (Dr.)
Journalise. 3

Pankaj and Parul are partners sharing profits in the ratio of 3:2. With effect
from 1.4.2015 they decided to share future profits equally. The following
information is furnished.

I. Bills payable were found to be over valued by Rs.15,000.



Creditors were found to be under valued by Rs. 15,000.
Machinery was found to be under valued by Rs. 20,000.
Furniture was found to be over valued by Rs. 15,000.

a. Identify the values which motivate the partners to revalue assets
and liabilities. 2

b. Pass necessary journal entries. 4



PRACTICE TEST-3

CLASS: Xli
SUBJECT: ACCOUNTANCY

ADMISSION OF A PARTNER

Time : 50 min. M.M. 25

1. Define sacrificing ratio. 1
ST ST Sl qRAMYG hifera)

2. State two rights acquired by a new partner. 1
U TSR hi U 8H o Sl § AR fad)

3. What is hidden goodwill? 1

e EAq e 82

4, X and Y are partners sharing profits and losses in the ratio of 3:1. Z is
admitted for 1/5™ share which he takes 1/10™ from X and remaining from Y.
Calculate new profit sharing ratio. 4

5. A and B are partners sharing profits and losses equally. Their capitals on
1.1.2012 were Rs. 25,000 and 20,000 respectively. On the same date C was
admitted for 1/5™ share and bring Rs. 20,000 for his share of capital. It was
decided not to raise goodwill account. Record necessary journal entries. 4

6. H and | were partners in a firm. They started a factory in a hilly area from
where they get raw material at a lower cost. They admit a blind person G as a
new partner on 1.4.2015 for 1/3 share. It was decided that G would bring Rs.
50,000 in cash for his share of goodwill and machinery worth Rs. 70,000 for
his capital. H and | were sharing profits in the ratio 3:1 but now they decided
to share profits equally in future.

a. Identify two values in the above question. 2
b. Pass necessary journal entries. 4

7. The Balance Sheet of Kalu and Balu who share profits and losses in the ratio
of 3:1, as at 31.03.2015.

Liabilities Rs. Assets Rs.

Creditors 1000 | Cash 2500

Workmen’s compensation 4000 | Debtors 6000

reserve

Investment Fluctuation reserve 1000 | Less Provision (500) 5500

General Reserve 2000 | Stock 2000

Kalu’s capital 6000 | Investments 6000

Balu’s Capital 4000 | Goodwill 2000

18000 18000




On 1.4.2015 Palu was admitted for 1/5™ share on the following terms :

a.
b.

C.

The market value of investments is to be taken as Rs. 4200.
Unaccounted accrued income of Rs. 200 be accounted for.

A claim on account of workmen’s compensation for Rs. 1000 be
provided for.

Provision for bad debts was found to be in excess by Rs. 200.

Palu shall bring Rs. 2000 as his share of goodwill and Rs. 5000 as
capital.

That total capital of all partners of new firm is agreed upon as Rs.
19600 in profit sharing ratio, adjustments to be made through partners
current account.

Prepare partner’s capital / current account, revaluation account and balance

sheet.

8



PRACTICE TEST-4

CLASS: Xli
SUBJECT: ACCOUNTANCY

RETIREMENT AND DEATH OF A PARTNER

Time : 50 min. M.M. 25

1.

How can a partner retire from the firm? 1

Teh UIEER fhy TR H 9 STl T80 Y Tehdl 27

E, F and G are partners in a firm sharing profit and losses in the ratio of 8:7:5.
F retired from the firm. E and G shared the future profits and losses in the
ratio of 1:2. Calculate gaining ratio. 3

P, Q and R are partners sharing profit and losses in the ratio of 5:3:2. Q
retires and the goodwill of the firm is valued at Rs. 9000. Assuming that P and
R will share the future profit in the ratio of 4:1. Pass the necessary journal
entries in each of the following alternative cases:

a) When no goodwill account appears in the books.
b) When goodwill account appears at Rs. 30,000 in the balance sheet. 3

Ram, Manohar and Joshi were partners in the firm. Joshi died on 28™
February 2015. His share of profit from the closure of the last accounting year
till date of death was to be calculated on the basis of the average of three
completed years of profits for 2012, 2013 and 2014 which were Rs.7000, Rs.
8000 and Rs. 9000 respectively. Calculate Joshi’'s share of profits till his death
and pass necessary journal entry. Show your workings clearly. 4

S, C and W were in the partnership with equal share in profits and losses. W
died on 30™ June 2014 under the terms of partnership deed, the executors of
a deceased partner were entitled to : (i) Amount standing to the credit of the
partner's capital account (ii) Interest on capital @ 5% p.a. (iii) Share of
goodwill on the basis of twice the average of the past three year’s profits (iv)
share of profit from the closing of the last financial year to the date of death on
the basis of last year’s profit (v) W’s share of goodwill will be adjusted to be
accounts of S & C who will maintain a profit sharing ratio of 2:1 in the new
firm. Profits for 2011, 2012 and 2013 were Rs. 80,000, Rs.90,000 and Rs.
1,00,000 respectively. W’s capital on 31.12.2013 was Rs. 50,000. Prepare the
capital account of W. 6

Vijay, Ashok and Vinod were partners in a partnership firm sharing profits and
losses in the ratio of 1:2:1. Their Balance sheet on March 31, 2015 was as
under:



Liabilities Rs. Assets Rs.

Bank overdraft 7,500 | Cash 1,000
Outstanding salary 1,500 | Debtors 19,000
Creditors 5,000 | Less : Provision 10,00 18,000
Reserves 2,500 | Stock 7,500
Capitals: 6000 | Investments 30,000
Vijay 30,000 Machinery 27,500
Ashok 45,000 Buildings 32,500
Vinod 25,000 |1,00,000

1,16,500 1,16,500

On 1.4.2015 Vinod decides to retire from the firm and following terms were

agreed upon.

I. The firm’s goodwill was valued Rs. 15,000.

il. Building is to be appreciated by Rs.10,000

iii. Machinery should be decreased to Rs. 25,000

iv. There was a bad debt amounting Rs.1,000. Provision on debtors

should be maintained @ 5%

V. The amount payable to the retiring partner is to be settled in cash
brought in by remaining partners in such a way as to make their
capitals in proportion to their new profit sharing ratio which is equal.

Prepare Revaluation Account, Partner’'s Capital Accounts and Balance Sheet

as on April 1, 2015.

8




PRACTICE TEST-5

CLASS: Xli
SUBJECT: ACCOUNTANCY

DISSOLUTION OF PARTNERSHIP

Time : 50 min. M.M. 25

1.

What journal entry will be passed when a firm pay realisation expenses on
behalf of the partherswWho is to bear the expenses? 1

afE wH WA % TE 1 PEE R TH UERR W e § i B TN
SHH] T2 HEN § O F USHEE Jaie & SR

List the grounds on which court may dissolve a firm. 3

T MUl ! Geltag Hifey 57 W = et wd w1 gae Y g 2|

Distinguish between dissolution of partnership and dissolution of partnership
firm. (on any three grounds) 3

el & THYH U9 e BH % 9HOT § STa9g ity (el @ o1y
™)

Write any four differences between revaluation account and realisation
account. 4

eI @ TS agel @ % e &l gl 9’ 3= o fafau)

What journal entries would you pass for the following transactions on the
dissolution of a firm of partners A&B. 6

I. Dissolution expenses amounted to Rs. 500 paid by A.
il. An unrecorded assets realised Rs. 2500.

iii. Stock worth Rs. 2000 taken by A.

iv. Creditors were paid Rs. 3000

V. Building was sold for Rs. 70,000

Vi. Profit on realisation Rs. 4000 is to be distributed between partners A
and B in the ratio of 3:1.

Following is the Balance Sheet of X and Y as on 30™ June 2012 and profit
sharing ratio is 3 : 2. 8



Balance Sheet as at 30.06.2012

Liabilities Rs. Assets Rs.

S. Creditors 40,000 | Building 60,000

Mrs.D’s Loan 20,000 | Investments 15,300
E’s Loan 12,000 | Debtors 17,000

Investments Fluctuation Fund 4,000 | Less: Provision 2,000 15,000

General Reserve 2,000 | Bills Receivable 18,700

D’s Capital 20,000 | Cash 3,000

E’s Capital 20,000 | Profit and Loss Alc 4,000

Goodwill 2,000

1,18,000 1,18,000

The firm was dissolved on 30" June, 2012 and the following was agreed

upon:

I D agreed to pay off his wife’s loan

ii. Debtors realised Rs. 12,000

iii. E took away all investments at Rs. 13,500

V. Buildings realised Rs. 76,000

V. Bills receivable were settled at a loss of Rs. 700

Vi. Realisation expenses amounted to Rs. 2,500.

Prepare realisation account, partner’s capital accounts and cash acocunt.




PRACTICE TEST-6

CLASS: Xli
SUBJECT: ACCOUNTANCY

ANALYSIS OF FINANCIAL STATEMENTS
(EXCEPT CASH FLOW STATEMENT)

Time : 50 min. M.M. 25

1.

What is the purpose of calculating “Liquidity Ratios™? 1

“qleTal A’ Ufiehfora S W1 I SEYd ®?2

What do you mean by solvency? 1
IMNEE- T W ST 1 AR © 2

Briefly explain the horizontal analysis. 1

&ifas faweor =i gem § fafaw

Under what heads and sub-heads the following items will appear in the
balance sheet of a company as per schedule 11l of Companies Act, 2013: 3

I. Provision for doubtful debts
il. Stores and spares

iii. Interest on calls in advance

FEE AFEE, 2013 H ARON I & FATER ferfa foaro o f=fatea 73 o
I 9 IURMEE & T<d q9s St -

. Hfery o & fau e
i = qen wad

ii. T U A WS

Write the objectives of financial statement analysis (any three) 3
faxirar foeror fawemor & =i &= sewa fafam)

Assuming that the Debt-Equity Ratio is 2. State giving reasons, whether this
ratio would increase, decrease or remain unchanged in the following cases:

i Issue of new shares for cash
ii. Purchase of softwares on a credit of 2 months
iil. Issue of bonus shares

Iv. Purchase of machinery on a long term deferred payment basis 4



o fifSy fo Smo-wHar o 2 © at fefefaa someti § %o afgq waqrgd
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)

)
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From the following particulars, determine the amount of Gross profit
and revenue from operations:

Average Inventory Rs. 1,32,000

Inventory stock turnover ratio 6 times

Gross profit 20% on revenue from operations

Compute “working capital turnover ratio” from the following information:

Revenue from operations: Cash Rs. 1,30,000, Credit Rs. 3,80,000,
Returns Rs. 10,000, Liquid Assets Rs. 1,40,000, Current Liabilities Rs.
1,05,000 and Inventory Rs. 90,000. 4

7 deal 9 Tohed @Y 9 Yame 9 oM fAuifa wifs;:

e i %, 132,000, W ed @ 6 7O, Fehel o| Yo
g AN HT 20%

fa o

frefafad gem 9 ‘wrefeia ISt e T’ 1 oM SIS

JAeE | SN : IS % 130,000, SUR E 3,80,000, A 10,000,
WA qHfar % 140,000, ¢ MA@ %, 105,000 9 Whaam €. 90,000

From the following statement of profit and loss of Kshitiz Ltd. for the years
ended 31 March 2014 and 2015, prepare a comparative income statement. 4

fafas fafide & 31 A9 2014 T 2015 i 99« gL 9 & fau FAfataa
o9 e B foeror 9 qercHs enH-gi TR’ qar St

Particulars Note No. 2014-15 2013-14
Revenue from Operations 20,00,000 12,00,000
Other Income 12,00,000 9,00,000
Expenses 13,00,000 10,00,000
Rate of Income Tax 50% 50%




9. Common-size Balance Sheet of X Ltd. is as follows:
t feAfiee 1 gmFR gor-ua = 2
Particulars I yr nyr lyr (% of | Ilyr (% of
total) total)
I. Equity and Liabilities
1. Shareholder’s funds
(a) Share Capital 9,00,000 | ccveee | e, 66.67
(b) Reserves and Surplus 4,00,000 | 3,50,000 26.67 | .
2. Current Liabilities
Trade Payables 2,00,000 | 2,50,000 | e |
Total | 15,00,000 | 18,00,000 100% 100%
Il. Assets
1. Non-current assets 10,00,000 | ............ 66.67 | ...
Fixed assets
2. Current Assets | L 2,00,000 33.33% | ..
Trade Receivables
Total | 15,00,000 | 18,00,000 100% 100%

Fill in the blanks and calculate current ratio for the | year.

R Tl &1 gfd 6 dun yem o9 & A =] S1uE 1 TuET Sifs) 4




PRACTICE TEST-7

CLASS: Xli
SUBJECT: ACCOUNTANCY

ACCOUNTING FOR SHARE CAPITAL

Time : 50 min. M.M. 25

1. Can a company issue its shares at discount? 1
I HEA 310 A T w2 W A X et @2

2. Write any one difference between equity share and preference share. 1

IHAT 39 T AR 379 H g Th ST Jasy
What do you mean by ‘Employees Stock Option’? 1
‘iRl @i foshed’ W oMY 9 HHE ©?

X Ltd. purchased machinery costing Rs.10,00,000 from Y Ltd. X Ltd. paid
28% of the amount through demand draft and for the balance, issued equity
shares of Rs. 10 each at a premium of 20%.

Pass necessary journal entries for the above transaction. 3

T faffes 3 % 10,000,000 AN 1 Uk AIEG O faffee @ w9 &1 T
fafre = <@ wfdr &1 28% @i faug @ g fwn qen 3w & faw 5 10
goeh o WHAT 319 20% Wfgem S fom)

IRE dF-3 & faw Jsemen faftest wifsm

Section 52(2) of the Companies Act, 2013 restricts the use of securities
premium reserve for specific purposes. Write any three such purposes. 3

e s, 2013 T oW 52(2) wfayfa A g9 w1 3w s ik
SEvdl % forw & diffd w71 @ FE dF sew fatew

Ojas Limited forfeited 200 shares of Rs. 10 each, issued at a premium of Rs.
5 per share, held by Anil for non-payment of the final call of Rs. 3 per share.
150 out of these shares were re-issued to Mukesh at a discount of Rs. 4 per
share. Make journal. 4

3oy fafiees 3 % 10 T &l 200 379 S % 5 gfa ofer dified | S
fRu U o, qon oI g uIRa & % 3 WG W &I Ao WM & ad A 3H
9, T fR 99 9 150 SR I W H B 4 U W a9 W YAFIEA
[EXII

ST S|



On 1% April 2015, Preeti Limited was formed with an authorised capital of Rs.
1,00,00,000 divided into 1,00,000 equity shares of Rs. 100 each. The
company invited applications for issue of 60,000 shares.

The amount was payable as follows:
On application Rs. 40

On allotment Rs. 25

On 1* and final call balance amount

Applications for 75,000 shares were received. Applications for 15,000shares
were rejected. All calls were made. A shareholder holding 2,000 shares failed
to pay the final call.

Show the above transactions in journal and prepare balance sheet of the
company alongwith ‘Notes to Accounts’. 4

1 3tder 2014 1 gfa fafiee &1 T34 = 10000000 H sfugd goft, Sifs =,
100 98 & 100,000 THar 490 ® fowfsa oft, & @y foan wEm s A
60,000 379N & T\ & fau sweeq st w3

Tfer 1 geR 33 ot

3TERT W T, 40

3T W T, 25

gom TS Sifqd A W 3w Tl

75000 A3 & foTu STasA U= W W 15000 AT & A&l i e w e

T T A W O TS T AR e 9 2000 A% &, Sifaw Wi
TIAH L H STHRA Gl

FIA & USHEE W OIWE oH-3dA i SR gC ‘@l @ fewfoe’ afeq
qoH-T3 IR ISy

X Ltd. issued 40,000 shares of Rs. 10 each at a premium of 25% per share.
The amount was payable as follows:

On application Rs. 2 per share

On allotment Rs. 4.50 per share (including premium)

On call Rs. 6 per share

Owing to heavy subscription, the allotment was made as follows:
I. Applicants for 16000 shares were allotted 8000 shares

il. Applicants for 72000 shares were allotted 18000 shares
iii. Applicants for 42000 shares were allotted 14000 shares

Excess application money was to be utilised on allotment and the surplus
would be refunded.



Sagar who applied for 2100 shares and belonged to category (iii), failed to
pay allotment money. His shares were forfeited after the call.

Pass necessary journal entries for the above transactions. 8

T fafiee 3 % 10 98 & 40,000 39 25% Wgew w S foeu ufyr =
W@ﬁ’[:

AT W % 2 i S
e W % 4.50 i 1w (ifam afeq)

AT T % 6 Gid A9

AY-AIEA =1 Ieie ¥, efded 9 YR fohan T

i) 16000 3T & SMERHI i 8,000 39 AWfed v T

i) 72,000 3T ® E™HI B 18,000 T @i H T

iy 42,000 ST FH SAAZHT B 14,000 3T HI A g

Af-3TeeA e H1 eTEed W I fFan T qen sifueiy & A fwan

IR, TS99 2100 3191 & forw smasA fan o den ot (iii) ¥ wafua on, emEen
TRT T PTAE HH § SR @M A & ST STeh 3790 a1 01 fohar T

ST el o U sTeyges dmm=n gfafsesr sifsm)




PRACTICE TEST-8

CLASS: Xli
SUBJECT: ACCOUNTANCY

ISSUE OF DEBENTURES REDEMPTION OF DEBENTURES

Time : 50 min. M.M. 25

1.

Why would an investor prefer to invest in the debentures of a company rather
than its shares? 1

Hiz FOveh &/ & AW F 99 Uk ROl ° e w1 grefasear =
m?

Name those debentures which are issued at a substantial discount and do not
carry a specific rate of interest. 1

T HUE 1 A oaEy 2 ged e s W fifaa fean s @ qen 5=
R Tt g 1 Fyia == 7= f<an st
What is the minimum percent of amount of debentures maturing during the

year, a company is required to deposit or invest in specified securities and till
which date? 1

a8 &% Y AYTaE & fau 3 seures st Ui o1 gean fha gfawa e
S & fafde gfagfet o fee w5 gear @ 9o fea fafy a2

State the nature of “premium payable an redemption of debenture.” 1
“ROTaEl o EAYTAE W 39 WM &t YRfa sl
Name any two methods for redemption of debentures. 1

RO & QAYTAE i R q fafa & T T

Which types of companies are exempted from creating DRR by companies
(share capital and debentures) rules, 2014? 1

FHEAT (AW gSt qen ®OOs) M, 2014 % oTEid fR9 @ w1 w6l
DRR &M ¥ g2 § T 872
Hemant Ltd. took over assets of Rs. 7,00,000 and liabilities of Rs. 1,00,000 of

Rajesh Ltd. at an agreed value of Rs. 6,50,000. Hemant Ltd. paid to Rajesh
Ltd. by issue of 8% debentures of Rs. 100 each at a premium of 30%.

Pass necessary journal entries in the books of Hemant Ltd. 3

v fafie 7 % 650000 & fuifa qea — o fafiee =6t € 7,00,000 &

uftgmfaal den & 100,000 % Ifaa fow 2o fafies 3 @ Jam T
fafaede 1 T 100 98F & 8% BUIA 30% Wifgay W frfda e fomam)

e fafide &t qesl o stavas o gfaftedr sifsw)




10.

11.

A Ltd. took a loan of Rs. 50,00,000 from Yes Bank Ltd. and issued 60,000;
7% debentures of Rs.100 each as a collateral security for the same.

Pass journal entry for issue of such debentures and show in balance sheet. 3

& fafee 3 79 §% ¥ % 50,00,000 FT HO {040 T8 B w1 GHARiE gAgfa
% AR W 60,000; 7% RUYH & 100 Y&F SN U

T HmOE & R %1 SHa gfafe w qun qemes | gwiisal

X Ltd. purchased its own 500 debentures of the face value of Rs. 100 each at
Rs. 94 and paid Rs. 250 as brokerage. These debentures were cancelled
immediately.

Pass necessary journal entries. 3

g fafiee 4 % 100 9% & 500 HOUA T 94 HI X I I FI q & ¥ 250
garett &1 A RIS @A & e W T

STEIH Sl Jarsedl sifsq|

On April 1, 2015 SK Ltd. issued Rs. 5,00,000; 8% debentures at par and
redeemable at 10% premium. As per terms of issue, interest was payable at
the end of financial year.

Pass journal entries for issue of debentures and payment of interest. Also
state the value indicated while creating “Loss on issue of debentures
account”. 4

1 @1t 2015 1 SK fafids 7 & 500,000 % 8% o @Hgew W frifgd favu
S 10% WHeH W gAYEE 6 IH 9| A * vl % SAJER, =& Rl
T fodia o & o1 § < el

FOME % fFHA qO oI ® PEE Sl SHo Wiaftedr sifse) CSEurast &
i @ wif"’ @ et 9 & *iF 9 gea w3 R e @)

AD Ltd. issued 50,000; 8% debentures of Rs. 100 each at a premium of Rs.
20 each on 31 March, 2012 redeemable on 31 March, 2015. The issue was
fully subscribed. The company decided to create DRR on 31% March, 2014
and also decided to invest in specified securities on April 15, 2014 to meet the
legal requirements.

Pass journal entries for issue and redemption of debentures. 6

AD fafiide 3 31 #= 2012 &1 ¥ 100 T&F & 50,000; 8% HOTA & 20 T&h
% WEm | S Ry S 31 " 2015 ®oSEAE o R @ ol sifaee
g HHT F 31 W 2014 HT DRR FM 1 q1 Ak SMawashaisti & TR
15 @10t 2014 =i fifds wfagfaal & faw = fofa femm

RO & TH qen vied &) SHo gfafedi sifs)



PRACTICE TEST-9

CLASS: Xli
SUBJECT: ACCOUNTANCY

(1) FINANCIAL STATEMENT OF COMAPNY
(2) FINANCIAL STATEMENT ANALYSIS
(3) TOOLS FOR FINANCIAL STATEMENTS ANALYSIS

Time : 50 min. M.M. 25

1. What is meant by financial statements? 1
fordta foemont & o erfumg 22

2. Name two components of financial statements. 1
foita foaeoni = = a1 T SRy

3. What do you understand by Analysis of financial statements? 1
fordta foemon & fowetsor @ emq o= g9em 8?2

4, Why is comparative income statement prepared? 1

qIcAs &1 foeor i qar fan < 272

5. “Some business concerns use various tactics to show their financial position
better to influence various stakeholders.” Name the limitation indicated in the
above statement. 1

‘o AEITS Al fafu= feaunenl w gaifaa e & foaw st foxia
feorfq &1 seq qwH & fow fafay famsal &1 9= w5 21’ Swie &weH o
| &1 T W F1 AW FaRu)

6. Under what head and sub-head the following items will appear in the balance
sheet of a company? 3
I. Trade mark

il. Proposed dividend

iii. Calls in arrears

iv. Loose tools

V. Provident fund

Vi. Investment in govt. securities

Th HEA & qE-99 & fhE W 9 IU-3Y & i T UR @ g9ien
SRTT?

i MRS o
i TS TS




10.

ji. SRl AT

Iv. l‘gﬁ ISR

V. qifaee we

vi. W wfagfaa § e

What is the importance of analysis of financial statements from the points of
view of :

I. Taxation Authorities

. Employees and Trade Unions

iil. Bankers/Lenders

1 & gfieenior @, fodiia foeroll = fageioor o1 1 qed 2-
. Ea@IREat

i.  wHed g g

iii. SR/

Name the process of critical examination of financial information contained in
financial statements. Write two objectives of such process. 3

39 UfeRar &1 AW waed e fadm faeen § & R fodia gEeen @
forermTenes weror foRan S @1 39 wiE & @ sewd o fafew

Briefly explain any three limitations of financial statement analysis. 3
foxiter faawor favamor 1 frt = dimedt =1 Hew o wmemea

From the following Balance Sheet of Anannya Ltd., as on 31% March, 2014
and 2015, Prepare a comparative balance sheet of the company. 4

31 |E 2014 31X 2015 % GEME M ot 9d % o= fafide & qoq-uF @
qoIcHs qor-51 a3y

Particulars Note No. 2013-14 2014-15

I. EQUITY AND LIABILITIES

1. Shareholders’ fund

(a) Share capital 20,00,000 25,00,000

(b) Reserve and Surplus 12,00,000 15,00,000

2. Non-current Liabilities

Long-term Borrowings 5,00,000 3,00,000

3. Current Liabilities

Trade Payables 3,00,000 7,00,000




Total 40,00,000 50,00,000
II. ASSETS
1. Non-current Assets
Fixed Assets-Tangible
Gross Block 25,00,000 30,00,000
Less: Depreciation (5,00,000) (6,00,000)
Net Block 20,00,000 24,00,000
Non-current investments 5,00,000 6,00,000
2. Current Assets
(a) Inventories 5,00,000 4,00,000
(b) Trade Receivables 4,00,000 4,00,000
(c) Cash and Cash equivalents 6,00,000 12,00,000
Total 40,00,000 50,00,000

11.

Fill in the missing figures in the following common-size income statement of
Lucky Ltd. 4

oot fafee & 1 TR sma-faewor § Re woml &t gfd wifse

Common size income statement
for the year ended 31° March 2014 and 2015

Particulars Note Absolute Amounts % of Revenue from
No. Operations
2013-14 2014-15 | 2013-14 | 2014-15
|. Revenue from Operations 10,00,000 | .......... 100 100
Il. Less: Expenses:
Cost of Material consumed | | ... 3,00,000 17 20
Employee Benefit expenses 8,00,000 | .......... 8 |
Depreciation 80,000 | ..o | 15
Other Expenses 70,000 | e | . 5
Total Expenses 4,00,000 | 7,50,000 40% 50
[1l. Profit before tax (I-11) 6,00,000 | .......... 60 50
Less: Tax | | 3,00,000 24 |
Profit aftertax | | .. 4,50,000 | ..oooerr | i




PRACTICE TEST-10

CLASS: Xli
SUBJECT: ACCOUNTANCY

ISSUE OF SHARES

Time : 50 min. M.M. 25

1.

What do you mean by “Minimum Subscription™? 1
‘g aifEE | ea I gHe €2

Name the head under which ‘calls in advance’ is shown in the balance sheet
and tell the rate of interest payable on calls in advance as per provisions of
table f of companies Act, 2013. 1

“gdem WM gerua W few vid H et W @ den wad f e
situfe™, 2013 1 TROM 'TF' & JEEE % SAIER Jesd AT W TR wiaea
= w1 T i @2

The maximum amount of capital up to which a company can issue shares is
better known as? 1

TF FIAT g it foew w9 ot ofen g eifusram ura uf¥dn &+t few M 9
ST Sl 272

A Ltd. invited applications for 50,000 equity shares of Rs. 10 each issued at
20% premium. The whole amount was payable on application. The issue was
over-subscribed by 60,000 equity shares.

Pass necessary journal entries. 3

T fafire 7 % 10 T=F & 50,000 FHAT 3T 20% HfH W S feu) smasd
% WY g Wl A <3 o) i 60,000 3T € sify-eTfuRe gal

ST gfaftesr it

Arora Ltd. made the second and final call on its 1,00,000 equity shares @ Rs.
3 per share on 01 Oct., 2014. The whole amount was received on 15™ Oct.,
2014 except on 5000 shares held by Mohit.

Pass necessary journal entries for the call money due and receipt by opening
calls in arrears account. 3

01 SRR 2014 =l el A T 1,00,000 9T M W 3 IAF 1 fga=a
Td S| A & 15 SRR 2014 T 5000 TN I SR gul Ui W@ @
TS|

A AT I BH AM WK B T ST Yfaftedl SRd AT Wl @ield gQ
HifSTa|




Anannya Ltd. issued 40,000 shares of Rs. 10 each at a premium of Rs. 2 per
share payable as Rs. 4 on application, Rs. 5 (including premium) on allotment
and the balance in two equal calls. Applications were received for 63,000
shares. The directors resolved to allot as :

I. Applicants for 35000 shares 25000 shares
. Applicants for 25000 shares 15000 shares
iii. Applicants for 3000 shares Nil (incomplete application)

Sonu, who applied for 700 shares in category (i) and Monu, who was allotted
900 shares in category (ii) failed to pay the allotment money.

Calculate amount received on allotment. What value has been fulfilled by the
company by issuing shares at prorata? 4

T fafHes 5 % 10 Y & 40000 A % 2 Yk & WiHEd W i fea

ST 4 SEeT W, T 5 (Wiaw gfed) smeed W q WY S WHEE AW W 3
21 63,000 31 % AT Ua gUI A & forw fiwes 3 e weafaa foman:

i. 35000 39 & SAE<HI hi 25000 39T
i, 25000 373 o SAEEHI hi 15000 231
ii. 3000 3T9N &% STASHI i Fo T (STl TR 1)

], =i 700 &9 & faw (et () ® fau swEsA foven qen wrg, 5= a9 (i)
H 900 319N ohT 3T 3T, e TRT 1 YA & H HFA T

e W I TR IRewfad SIT| ST oTEed & YR W e ®ih
Sl 3 o godi e TR @2

KBA Ltd. forfeited 200 shares of Rs. 10 each (Rs. 8 called up issued at a
premium of Rs. 2 per share to Rajesh, on which he had paid the application
money of Rs. 5 per share for non-payment of allotment money of Rs. 5 per
share (including premium).

Out of these, 140 shares were re-issued to Hitender as Rs. 8 called-up for Rs.
7 per share. Give necessary journal entries for forfeiture and re-issue of
shares. 4

KBA fafe 200 3fei € 10 9@ (¥ 8 AN ™) & ¥ 2 Wifm m ffHa
3Ten =1 201 fohan 59 R TSiwr 4 % 5 ufa ofer sTasH WA fRa g € 5
gfd sfe1 (Wifezm gfed) eeed T ar &1 fhan

SWE H W, 140 9 1 feag & T 7 YRS W T 8§ (W ) W HHEIHA
fwa

319l & &1 qen AT & faw svevask Jsmen wfaftedr wifs)

Aaryan Ltd. invited applications for 1,00,000 equity shares of Rs. 10 each
issued at a premium of 40% of the face value. The amount was payable as:




On application Rs. 6 (including premium Rs. 2)
On allotment Rs. 6 (including balance premium)
Balance on first and final call

The issue was over-subscribed by 50000 shares. Allotment was made on pro-
rata basis.

P, to whom 200 shares were allotted, failed to pay allotment and call money.
Q, to whom 100 shares were allotted, paid only upto allotment. Their shares
were forfeited and afterwards re-issued at Rs. 8 per share as fully paid-up.

You are required to prepare Cash book and pass journal entries. 8

A fafies 3 100000 T 33, & 10 T & AT 99-4¢4 & 40% WfHem
W TeRd AW fhA| uftn 9 g 33 ot

3T T 6 (% 2 Wi Hied)

@ T T 2 (S YitHeH gfed)

Y g g Sifaw W W)

A 50000 379 @ AMY-AMYEH gl oTeed STuifaer ER W fehan T

0, i 200 of9 eeEfeq gu o, oeen wd Wi i [ A e wn owy, N9
100 379 oTEfed §U o, 7 @A AR % & PAE fhanl 3T 90 H1 50
fRan T T AR H ¥ 8 U® W YUl URW WA gU YArHIhG fRar e

3T Uehs el IR W g AE9Th Sl qfafeedi shifs)




PRACTICE TEST-11

CLASS: Xli
SUBJECT: ACCOUNTANCY

RATIO ANALYSIS (THEORY, LIQUIDITY AND SOLVENCY RATIO)

Time : 50 min. M.M. 25

1.

What is meant by “Ratio Analysis™? 1
“ arqura fargeror’! st R eref @2

What do you mean by Quick Assets? 1
Tl gl ¥ e = qHE §?
What higher debt-equity ratio indicate? 1

S FU-GHAT U F1 AT i €2

State one transaction which results in a decrease in ‘Debt Equity Ratio’ but
have no effect on liquidity ratios. 1

Th THl oed daed S SRU-EHAl UM A e U0q ol AUl i
gTfed &1 s

Why Ratio Analysis is considered as an imporant tool of analysis of financial
statements? 3

focitar foeRon & fovewor &1 qepfiel § ST7u foveiaor i T Ae@qul i
A AT ST @7

Calculate current ratio from the followoing:

= ¥ =e] STUM ki IO T

Working Capital Rs. 2,25,000
Long-term Debt Rs. 3,50,000
Total Debt Rs. 5,00,000 3

From the following information, calcualte interest coverage ratio:

T amTstl § = STeR0] ST i TUMT hifad:

Net profit after interest and tax Rs. 3,60,000

Rate of Income Tax 40%

12% Debentures Rs.10,00,00

8% Mortgage loan Rs. 5,00,000 3

A firm had current assets of Rs. 5,50,000. It then bought goods for Rs. 50,000
on credit. After this purchase, the current ratio was 3:1. Ascertain the amount
of curent liabilities and working capital before and after the purchase. 4



10.

TH HH H ] g € 5,50,000 offl T8 T 50,000 T HIA SUR WIST 9
%d % YA G UM 3:0 ol 39 HI 9 Yd TE Y¥EN 9 SiFel T
Frsiter geit st uftn aRewfea wifsa)

The current ratio of a company is 2.5:1. Which of the following transactions
would (i) improve, (ii) reduce, (iii) not affect it: 4
T I H1 A A 2.5:1 €1 Fe § @ wH ¥ oH-37 T8 (i) guRA, (i)
+9 w4, (jii) gefoa 7= A

a) Sale of goods costing Rs. 25,000 for Rs. 40,000 on credit

b) Sale of old machinery on credit basis
C) Redemption of debentures
d) Payment of outstanding salaries

Calculate (i) Debt-Equity Ratio, (ii) Proprietary Ratio from the following
information:

=1 oAl | (i) RO-9uar ST, (i) WiE STu, IReRfad hiferg:

Rs.
Loan from SBI 5,00,000
Trade Payables 2,00,000
8% Debentures 10,00,000
Equity share capital 20,00,000
Balance in statement of profit & loss 5,00,000
Trade marks, patents and copyright 8,00,000
Othernon-current assets 27,00,000

Current Assets 5,00,000 4



PRACTICE TEST-12

CLASS: Xli
SUBJECT: ACCOUNTANCY

RATIO ANALYSIS

Time : 50 min. M.M. 25

1. What does a low working capital turnover ratio indicates? 1
=1 Rl geft eaE e S €2

2. Give two uses of ratio analysis. 1
STUTa-fageror & 3 IYAM FqET|

3. How operating ratio is calculated? 1

T SIUTd Sy uiehferd fean s 82
“The ratios suffer from a number of limitations”. Write any three limitations. 3
“ ST T g W B1' Wi off W g fafe)

The cost of revenue from operations of a firm is Rs. 9,00,000 for the
year 2014-15. Inventory at the end is 1.5 times than that in the
beginning. Calculate inventory at the end of the year if inventory turnover ratio
is 4 times. 3

9 2014-15 H Tk ®H HI Fo@H ¥ AMH HI AFC E 900,000 1 99 & oFd F
o oaf & yrRe o whw @ 1.5 on @1 9 & sfq ¥ wiaw w1 uiwed
shifeTT afE wiean afga a4 Tom @)

A firm carries an average inventory of Rs. 100,000. Its inventory turnover ratio
is 6 times. If firm sells its goods at a profit of 20% on revenue from operations,
find out its profit. 4

Th W w1 3Ed WA 100,000 €1 SHRT WiaA SE™ S| 6 On 21 Al
% orgell w1 fahd, YO W OWH % 20% oW W O © oAl v ¥
i)

Calculate operating ratio and operating profit ratio from the following: 4
Revenue from opeations (Cash) Rs. 3,00,000
Revenue from opeations (Credit) Rs. 2,20,000
Return Inward Rs. 20,000
Cost of revenue from operations Rs. 2,25,000
Office and administration expenses Rs. 40,000
Selling expenses Rs. 35,000

Dividend paid Rs. 100,000



= 9 Yoo STJud del Yoo od STIU S e

T 9§ 3T (FH]) % 300,000
T 9 3 (3UR) % 220,000
SIS % 20,000
YA 9§ 3T i AN T 225,000
FIAE T WRIEHE =9 % 40,000
fasha == % 35,000
AT T % 100,000

From the following information of Sankalp Ltd. as on 31% March, 2015,
calculate return on investment:

deheq fafide &t 31 WG, 2015 &1 3uaed 9 gEamet ¥ fafEm | gom
T O L

Equity share capital Rs. 5,00,000
Reserves and surplus Rs.3,00,000
Balance in statement of P&L Rs. 1,20,000
8% Debentues Rs. 2,00,000
Long term borrowings @ 8% interest Rs. 2,80,000
Long term provisions Rs. 1,20,000
Net profit of the company after payment of tax amounted to Rs. 2,88,000.
Rate of income tax is 40%. 4

FT % A U9EE KA h GG o9 w1 AR T 2,88,000 B MR HI R
40% R
The information of Sunil Ltd. was as follows:

Sunil Ltd. 1 F=AQ 7 of -

Trade Receivable turnover ratio 4 times

Current liabilities Rs. 50,000

Average trade receivables Rs. 180,000

Working capital turnover ratio 8 times

Cash revenue from operations 25% of revenue from operations
Gross profit ratio 33%%

Calculate : URehfaa &% :

i. Revenue from operations (J=Ta 9 3TTH)

il Cost of revenue from operations (J=mciq T 3 i M)

ii.  Working capital (et Isi)

iv. Current Assets (=Te] FEfaar) 4



PRACTICE TEST-13

CLASS: Xli
SUBJECT: ACCOUNTANCY

CASH FLOW STATEMENT

Time : 50 min. M.M. 25

1. When does a flow of cash arise? 1
Uhe &1 YA€ Ha Bl 22

2. State whether purchase of goods on credit will result in inflow, outflow or no
flow of cash. 1

AT, fF YR W I F9 FH ° Ths H1 I<0: JaTE, & FaE a1 HIE JaE
&l Brm?
When is interest received considered as financing activity? 1

S Wit b1 S ot TIfarary JH Sl @2

Give an example of investing activity. 1
fraw nfafafa =1 = SSEww <ifSm)
What is meant by ‘Cash Equivalents’? 1

‘Uers qodiw’ W A I B2
Classify the following into operating, investing and financing activities: 3

frefafad =t ufEem, few @ foxda nfafafiei o afiea s .

(a) Issue of share capital (b) sale of goods (c) received interest on investment
(d) purchase of goods (e) dividend received (f) interest paid.

Explain any three limitations of cash flow statement. 3
Uohg JaTe faeror &t fe=gl o= Swsti @1 9ol ifsa)

Following is the position of current assets and current liabilitries of X Ltd.

Particulars 2012 (Rs.) 2013 (Rs.)
Provision for doubtful debts 2000 --
Short term loans 10000 15000
Short term investments 15000 18000
Creditors 25000 35000
Debtors 32000 25000

Company incurred a loss of Rs. 12000 during the year. Compute Cash Flow
from operating activities.



2. Investment were purchased on 31.03.2013.

9. X Ltd. has plant and machinery whose written down value on 1% April, 2012
was Rs. 8,60,000 and on 31% March 2013 was Rs. 9,50,000. Depreciation for
the year was Rs. 40,000. In the beginning of the year, a part of plant was sold
for Rs. 25,000 which had a written down value of Rs. 20,000.

Calculate the net cash flow from investing activities. 4

10.  From the following balance sheets of ALFA Ltd. as at 31% March 2012 and
2013. Calculate the cash flow from operating activities. 6

Particulars Note (Rs.) (Rs.)
No. 31.3.2012 31.3.2013

|. EQUITY AND LIABILITIES

1. Share holders’ fund

(a) Share capital 200000 200000

(b) Reserves and surplus 1 10000 22000

(2) Non current Liabilities

Long term borrowings: 10% debentures 100000 100000

(3) Current Liabilities

(a) Trade Payables 50000 70000

(b) Other current liabilities 10000 18000

370000 410000

Il. ASSETS

(1) Non current assets

(a) Fixed Assets:

(i) Tangible Assets : Machinery 150000 170000

(i) Intangible Assets: Goodwill 40000 30000

(b) Long Term investments 80000 100000

(10% investment)

(2) Current Assets

(a) Inventories 40000 50000

(b) Trade Receivables 48000 39000

(c) Cash and cash equivalents 12000 21000

370000 410000
Notes to Accounts
Particulars (Rs.) (Rs.)
31.3.2013 31.3.2013

1. Reserves and Surplus
General Reserve 12,000 15,000
Balance in statement of profit & loss (2000) 7000

10000 22000
Additional information:
1. Depreciaton on machinery was Rs. 20,000



